EARAROBREBRT —5 XN—ZXBISH—F

202257468 (KK) s@&&E2H

L C 1 54 YSFR—#g BRI R
[AXE%€]) 1%&:350,00H ~ 2%&:116,000H  33#%:70,000M  43%&:46,000H  53&:32,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o Ho4 | DIEREE— 57.4 1-1 76| - 2 | 4 |MTX (BER)
1g7o-es 56.0 ) o |EBAS_
RE—UR H:0835= 799577 —1A
~ =g B 5 | AZAIE 57.7 5-4 75| - 3 | 48 |HREH (BEE)
28 |Zv72L7oL o820 1172 | ik
Rih—tYS5— B:FU—VEIRYT EHILHIS
3 = 8 4 | BAMEE 57.9 3-2 38.0| — 5 461 | ROFBE (BEE)
3011 /7\3_/“7{'7~‘1>‘__“ . #53.0 a1/2 4y |EBEE
Ry d—F)LYI B:F4—FEIVR & B
7S — s 7 | AIE— 58.2 8-7 7.4 — | 10 | 455 |ROBEE REE)
4181 / 27:_ ZOI }.lj . 54.0 a1/2) (1) |BEE_
R:7v=ES5—L BRARXIZAAL—R ME =A
N o4 | ETHE 58.4 2-3 38.5| - 1 | a8 |FmEEE (BER)
51810 FOXILL Y . 62,0 0) (g |LEKE
RiTT/—*/ B:YUDRRDIYIY FAPURANTST
O B4 | SHEX 58.4 6-5 37.6| - 4 | 43 |ROBE (BER)
6155 ,{.V{T I‘-'j }lJ_ . 54.0 O\F) “1 Eﬁﬁé%_
RiFRF B:ILIRSL—Y HBIT7—L
TJrFPY—F—)L 6 gﬁl%ﬁ— (58.5) 6 381 — | 7 | 430 fsg%ﬁm (BEE)
. Je EmE—
RURU—LYp—— BFYI YD F—F—X ¢ e Ay
h—t>IR/N— R Rt R 109 |37.6) = | 9 | 508 |HFLE- (EEE)
. 3/4 - &
Rib—tyIa—sgy #:r—tv/—TI (-4) BEAH IXF«T7—LA
_ s o4 | K3k 58.6 n-10 |37.2| - 6 | 47 |FEHEE (&ER
70 /) L’E)}f ‘ e 4.0 (753) () |HAKEER
RIALINSRY IR B TISR—) wiE a3k
EVHYIRS—L 6 ggl%ﬁa 5(9.)4 911 |37.8| — | 11 | 460 Ezg}—\% (BEE)
. 4 =T
REVINAO— B FIFRATAT 2| s
= o5 | AMHEE 59.6 7-8 38.5| — 8 470 | HFLHE— (@ER)
,’i_'r.,t/r__‘.?_j_ _ %6.0 U (3 |RERERE
R:k40 B:FVIv—IR I ANABIS
@ 1—F—&RIEL
13—7F+—
20—F+—
30—7+— 7,10,1,6,8,5,4,11,2,3,9
Mal=5r= 7,1,10,8,5,6,11,4,3,9,2
o ILRE
BB 7 310 | [ 94 R 7-8 490M e B 6-7 770M 3EE 1-7-8 3,400
B B 7 130 1-7 5604 5 & 7-8 1,110M 3EH 7-8-1 11,810
8 180M 1-8 1,100 Ba 7-8 1,690
1 3104

ABIC OV TRUTEREERRODDZE. THRIIZEL.




